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Question &  [2,2== 4 marks]

a varies directly as b” and inversely as c, and @ = 1 when &= 2 and ¢ = 3. Find:
a awhenbh=3andc=2

b cwhenb=4anda=2.

Question 7 [1 marks]
What is the maximal domain of the funetion fwith rule flx) = +/5x -7 .

Quesiion 8 [2 marks)

‘What are the co-ordinates of the point (3, 5) after a reflection in the x-axis followed by a translation of 2

units in the positive direction of the x-axis.
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Question 9 [1,3=4 marks]

For the function with rule f{x) = 2x + 5 find:
a  fl)+f3)

d  flat+2)-flu-2)

Question 10

[5 marks}

What is the sequence of transformations that takes the graph of y = *” to the graph of y = 2(-x - 37 +4.
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